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30197622 poup A-4 /xerox/ [8)188 hun 1900 66.5 35
39263200 gpuukiyuljuyht ghpp /92 phpp/ Uu hunn 500 1.0 2
30192160 ouphju Uu hwuwn 250 2.5 10
30234300 rlmmu_lpll uliu_ulmmnll Uu huwn 100 4.0 40
30197230 pnpwwywiul jndqud Uu hwwn 150 3.0 20
30197231 pRpwwwiulu uy Uu wnuth 1000 5.0 5
30197232 prpuywiul wpuquljup uu hun 80 4.0 50
30197230 prpwywbwl wpuquljup/ 10108 hwwn 170 34 20
gniwynp/ujyuiunhl

30197235 pnpwwywhwl pkghuwnp /Epljonuiljuith / 008 hunn 800 4.0 5
30192130 dwwnhwn /hwuwpuly/ (6108 hunn 70 0.700 10
30197100 YJuphsh dbnwnuyupk juwybp /lfllgllh/ UuU wnnith 100 2.0 20
30192121 qphs /qunhluynp/ ¥ uu hun 100 3.0 30
35821400 npno Ul hun 2500 5,0 2
24911200 unuhtd /kUniyuhuy/ [8)08 hun 200 2.0 10
30192730 puthwiighly Juysnit juqd Uu hunn 100 2.0 20
22451120 npuwdwplnuyht Eph opykip [8)188 hun 5 0,860 172
22451120 npudwplnuyht Ununph opnkp [8)108 hun 5 6.0 1200
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30199281 dpwp vhohti swihuh UU hunn 20 50
30199232 dpwp A4 $nplwnh Uu hunn 50 1.5 30
24910000 Unubdwduinhin gpuukbjuljuht Uu hwwn 180 0.900 5
30192720 Sdwlighy Adwplykp/ Uu hunn 200 1.0 5
30192135 Spuwdhwnk dhonily yunnhwinh hudwp Uu huwn 80 0.640 8

punqudkip 120.0
Spwbuynpuught ympkp
09132200 Pklughl / nkgniyyup/ Uu 1hwp 410 600.0 1463
09411700 Phwlwh quq UU hud 180 300.0 1666
punuukip 900.0
Uypulip
30239100 Nundbhwhwindwh dkpkuw Ul huwn - 200.0 1
Ubpkuwttph swpdhsbibph dwukp b
wupuqubkp
34300000
punudkup 300.0
44110000 Chuwiymp hwdwjbpuybinwputh - - = -
plpwghl tnpnquwl hwdwp
punuukip 200.0
Uwulughnwlwb swnuympinih Ul npud 2 =
79131300 EEjupniughtt mnnpugpnipjub Uu npud hunn 3.0 1
fuyuuupldub &wp
76130000 SFuquuywndwb hwdwljupgh Ul npuy e 40.280 =
uywuwpldwi Jdwp
22211100 << Upnuljuipg>>phpph Ul huwn 48 6.720 140
pudwinpyugpnipinil
72200000 | h/h b ¢/h unjundwnugyws hudwljwpgh Uu npud 33400 43.2 1
uywuwpldwi J&wup
72200000 nbnkjunjujuub hwdwlupgh Ul npud 10000 120.0 12
uywuwpldwi Jdup
32551290 hunbpubwn juuh Swunwynpyub wpdtp UuU npud 11000 132.0 12
72411700 Gupwwnhpnyph /qndkup/ vyyuuwpluwb Ul npud 12000 12.0 1
y&wp
64211130 Poouyhti hkpwunuwlwugh Uu npud - 102.0 3
Swinuynipinil
09411200 Ykigunuyht unyyundwb quigh J&wp Ul fud 139 350.0 2518
09310000 k1. Eukpghurh uipd Uu jJwn/d 45 600.0 13333
71631120 Swpunnujuwi w/Ad nkju.quund Uu npud = 25.0 2
90720000 Puauyuhywhwljwb wwpnwnhp Uu --- - 30.0 -
J&wpkp
66511170 | swnuynnqujub w/Ad wuwhnjwugpuijdwp )18 npud e 60.0 2
66111200 Pulijuyhtt Swpuympinih [8)18 npud w 20.0 =
22211100 phpph pudwbinppugpnipini Uu - 89.0 2
50311120 hwdwljupqsuyhtt uwpp Ul npud =y 100.0 -
-‘: uwppuwynpnudubph uyyuwuwplnud
Sumud shwlinhuwgnn swhiu
99000000 wfuunnujupd - npud 15000.0
99000000 Ughuunnuwjwpd /uyyupghunnpnud/ =4 npud 1000.0
plunudkup npud 19453,2
Opwgph wijuindp Lwhunu pnguljut Yppnipinit
pwdhli 9 junwdp 01 quiu 01 dpwghp 51
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Sunwd shwiinhuwgnn wy) dwipaukp
99000000 pupwghy npudwobnphitkp 20U4-hi npud 8978,0
Uuputip
39711120 uwnguipub Uu npud 70000 70.0
39531800 qnpg UU ppud 1 50.0
39141300 Swpwubnuib UU npwd 15000 60.0
39138100 wpnplkp Uu npud 2500 70.0 28
punudkip npud 9228,0
Opugph winjuwinudp Chnhwinip pinyph wy) swn-u
pwdhli 1 fjunwdp 3 quiu 3 dpwghp 51
Ownuynipjnih
Cunhwlnp pimyph wy) Swewynipynih
38121300 Zm]_lmllmpllmmlljh ]{m]mhhhpl\ Uu fud 750 70.0 93.33
quiquijhgpurynpnud
99600000 Uy dwuukp --—- 630,0 -=-
punudkup 700,0
Opwgph wijuimup Snuyph bljundwdp hpugmiph
qpuiigmuy
pwdhl 01 junudp 06 puiu 01 dpughp 52
Ownwynipjnih
71351490 Qunuuwnwpgh Ul npud 180.0
5 Swinwynipynily/ gniyyph
qpuiignid/
99600000 yhwn nnpp/ywpununhp Uu npud 20.0
J&wpukp/
punudkup 200.0
Opwgph wijuimudp Lijhpunynpynth wy) swhnyp
shtwnwyinny juquuljkpympimbtkpht
Pwdhli 10 junudp 07 quiu 01 dpwghp 55
Gunud shwbinghuwgnn dwuu npud 100.0
99000000 [ punudkip npuud 100.0
Opwgph winjuinup Tpgwljw vhgwyuwyph
wuwounywbmpnil /Unpuhwbim pym it/
Pwdhl 05 funup 01 nuu 01 dpwghp 51
Uypuitip
- ‘thqbjuyhtt Juntihp UG thwp = i
/udwnunhty/
Qunud shwbinhuwgnn wy
dwjuukp
99000000 wolimnuupd npud 1200.0
punudkip 1400.0
Opwgph winjubnmd Zwdwjipught dpwlnyph b wquin
dudwigh uquuljkpynmd
Pwdhl 08 fjunudp 02 nuu 03 dpughp 51
Uupulip
1 18530000 Udwbopyu nkpukp Uu npud = 200,0 o
/EpkEluwbtphty/
18530000 ]kpukp/qununupbul Uu hun 500,0
Jubwtg Uhg. opdu wnphy/
plnuukip 700.0
Ownwympinih
55241200 Zwlquunh juquulbpuynud Uu npud 500.0 -
punudkup 1200.0




(/V’

Opwgph wijwbnud 2whghun dpwlnyp Ypnh
Pwidhti 08 Junwdp 05 quiu 01 dpwighp 51

Uy puitip
Uwpwtiph dknp ppnud
Anplunkghti b hwdwgliph
hhdtwnpiwb opjut
udhpqud/
punudkip
18510000 Uwunwbhbbp tnpuuuwl Ul npud
qouqbphl
Ownujnpjnih
55241200 Zwbquunh juquwlkpynd % s
Uy pubip
39120000 Uknubukp Ul npud
39138100 Upnnukp Ul npud
Qumud shwbinhuwgnn wyy
Sdwifuukp
99000000 woliunuywpd
punudkup
Unghwjuljul wuwownywbnipinii
Pwdhli 10 umudp 07 nuu 01 dpwghp 54
¢ Qunul shwbinhuwgnn wy
Swhiukp
99600000 wy)] buyywuntikp pjnigkhg npud
99600000 hninupluinpnipjub hywun npud
Cunukup
Opwgph wijwbndp Pwpdpugnyl Yppoipnih
Pudht 09 jumup 04 nuu 01 dpwghp 54
99600000 Yppwlwl byywuwniikp pnigkhg Uu npud
puguidkip
Opugph wijwinud Upinwphb jniuwynpoipjut
guigh hhuiwinpngnid /hnn.)nuuwn]npnipynity/
Pwdhli 06 fumudp 04 nuu 01 spwghp 51
Owpwympinil
09310000 [ El. Eukpghuyh Jupd Uu yyw/d
Uujpuip
31530000 |ntuwwnnt uwppuynpnudubph b Ul
wihpwdbon ywpuquikph dknp
pkpnud
Ownwjnipnil
99600000 Pubnpuljwb /i Eunphyh/ )08
Swinwynipynil
pliunlbin
Upwqgph winjwbnuwip
Yubwy wnwpwsdplbph hhdunud b
wuwhwywimuy
77211700 Ownkp Uu hun
plnudup
Opwgph wyjwimd Qpuyhtt juenyghkph Pwdhl 05
owhwgnpdmud b wwhuywbnmd Junudp 06
Pudhti 06 junidp 06 quiu 01 dpughp 55 nuu 01




Ownuympinih
65111100 gpuniunnuwpupdwh J&wp Uu fud 36 2500.0 69445
Qunud shwiinhuwgnn Swhiu
99000000 woliunuwpd : npud 1150.0
punuukip 3650,0

Opwgph wijwnudp 2wbquinh b uwynpunh gninm
wwhwywimy
Pwdhl 08 unudp 01 guu 01
Uphuwnnutip

44311140 Uwpqunuonh dhnwnuljub Q2 npud 2860.8
gubljuuunnp
Jupnignid
71220000 Lwiugdwbuuuwhwoyuht Ul npud 300,0
woluunnwiipbikp
punudkip :
Uy putip 3160,8
Opwgph wiuwimidp Uuujn-
plwnnlyw dwéhh JEpwinpngmu
Pwdhl 04 junudp 05 nuu 01
09411700 Puwlub quq Uu fud 180 400.0 2222
3 puguilkip 400.0
Opwqph wijuimdp  Jwpswlwb 7555.2
piigkh wuwhnuwnught $ntin
Pwdhl 11 junwdp 01 guu 02
Opwqph wiuwinudp  $nlguyhts 0.0

== pimgkh wuwhmuwnuyht $ntin
Pwdhl 11 junuwp 01 guu 02

Cununfkup 57267.2




